
DR-DIY-ENCL-3
OPEN

DR-DIY-ENCL-1
SINGLE DOOR

ENCLOSED

DR-DIY-ENCL-2
DUAL DOOR
ENCLOSED

NOTES

THESE INSTRUCTIONS DESCRIBE THE ASSEMBLY OF THE 1.
DEPARTED REALITY DIY SERVO DRIVE ENCLOSURE SERIES 
DR-DIY-ENCL. THE FULL PLANS ARE AVAILABLE FOR 
DOWNLOAD, FREE OF COST, AT WWW.DEPARTEDREALITY.COM

CONTACT DEPARTED REALITY WITH ANY QUESTIONS OR 2.
CONCERNS ON DISCORD AT https://discord.gg/skn2HzpbQy

SEE SEPARATE PARTS LIST.3.

ITEM NO. PART NUMBER DESCRIPTION DR-DIY-ENCL-1 QTY. DR-DIY-ENCL-2 QTY. DR-DIY-ENCL-3 QTY. LEFT RIGHT MISUMI_PN

1 27209-01 HINGE, 20MM 2 4 -

2 27210-01 BRACKET, 20 SERIES 10 10 8

3 27223-01 HANDLE, DOOR 1 2 -

4 27224-01 FOOT 4 4 4

5 27225-01 END CAP. 2020 12 16 8

6 27178-01 PANEL, PERF, 5U 2 2 2

7 15109-0444 EXTRUSION, T-SLOT, 2020, 444MM LG. 1 1 - HFSB5-2020-444

8 15109-0549 EXTRUSION, T-SLOT, 2020, 549MM LG. 4 4 4 HFSB5-2020-549

9 15110-0550 EXTRUSION, T-SLOT, 2020, END TAPPED, 550MM LG. 5 6 4 TAPPED TAPPED HFSB5-2020-550-TPW

10 15113-0300 EXTRUSION, T-SLOT, 2040, M5 END TAPPED, 300MM LG. 4 4 4 TAPPED TAPPED HFSB5-2040-300-TPW

11 15113-0550 EXTRUSION, T-SLOT, 2040, M5 END TAPPED, 550MM LG. 1 2 - TAPPED TAPPED HFSB5-2040-550-TPW

12 15115-0525 EXTRUSION, T-SLOT, 2020, TRI ACCESS HOLES 525MM LG. 4 4 4 ABC WXZ HFSB5-2020-525-LCH-LWV-RCH-RWV

13 27186-0525 EXTRUSION, T-SLOT, 2020, 525MM LG. 2 4 - AB X HFSB5-2020-525-LCH-RWH

14 10125-08 SCREW, BHCS, M5X0.8, 8MM LG., ZN 38 48 24 BCB5-8

15 10125-15 SCREW, BHCS, M5X0.9, 15MM LG., ZN 38 44 32 BCB5-15

16 10145-01 NUT, TEE, 20 SERIES, ROLL-IN, M5X0.8 46 56 32 HNTAJ5-5

17 10122-05 WASHER, FLAT, M5, ZN 8 8 8 PWF5

18 27206-456-231 PANEL, 456MM X 231MM, 5MM THK. 1 1 -

19 27206-456-311 PANEL, 456MM X 311MM, 5MM THK. 1 1 -

20 27206-561-311 PANEL, 561MM X 311MM, 5MM THK. 2 2 -

21 27206-561-476 PANEL, 561MM X 476MM, 5MM THK. 1 2 -

22 27206-561-496 PANEL, 561MM X 496MM, 5MM THK. 1 - -

N/A

DR-DIY-ENCL 
ASSEMBLY 

INSTRUCTIONS
-27185

1 OF 10

TOLERANCE UNLESS NOTED

1:5 0.0

REVDWG.  NO.

D
SIZE

TITLE:

DEPARTED REALITYAPPROVALS DATE

APPROVER

DESIGNER

N/AFINISH

MATERIAL

SCALE WEIGHT (KG) SHEET

RELEASE

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

LINEAR 

ANGULAR 
THIRD ANGLE PROJECTION

RADII
SI

METRIC

N/A

N/A

N/A

A. SPIEGELMAN

A. SPIEGELMAN

A. SPIEGELMAN

20220416

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



15 4X

154X

10

12

7

18

12

14

2X

16

2X

2

1X
DR-DIY-ENCL-1 
AND -2 ONLY

DR-DIY-ENCL-1 
AND -2 ONLY

DR-DIY-ENCL-1 
AND -2 ONLY

10

14

2X

16

2X

2

1X DR-DIY-ENCL-1 
AND -2 ONLY

DR-DIY-ENCL-1 AND 
DR-DIY-ENCL-2

DR-DIY-ENCL-3

15

TYPICAL EXTRUSION JOINT

M5 TAPPED HOLE
IN EXTRUSION

TIGHTEN SCREW THROUGH 
WRENCH ACCESS HOLE

STEP 1: ASSEMBLE BASE FRAME -27185
2 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



19

12

10

10

12

154X

15 4X

DR-DIY-ENCL-1 
AND -2 ONLY

STEP 2: ASSEMBLE TOP FRAME -27185
3 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



20

22

20

9 4X

15 4X

DR-DIY-ENCL-1 ONLY

DR-DIY-ENCL-1 AND 
DR-DIY-ENCL-2

DR-DIY-ENCL-1 AND 
DR-DIY-ENCL-2

BOTTOM FRAME FROM STEP 1

DR-DIY-ENCL-1

DR-DIY-ENCL-3

STEP 3: ATTACH UPRIGHTS TO BOTTOM FRAME -27185
4 OF 101:3 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



TOP FRAME FROM STEP 2

ASSEMBLY FROM STEP 3

15 4X

STEP 4: ATTACH TOP FRAME TO ASSEMBLY -27185
5 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



1416X

16 16X

2 8X

8 4X

100

260

STEP 5: INSTALL RACK POSTS -27185
6 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



5 8X

4 4X

15 8X

16 8X

STEP 6: ATTACH FEET AND END CAPS -27185
7 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



62X
14 8X

17 8X

16 8X

STEP 7: ATTACH SERVO MOUNT PANELS -27185
8 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



58X

142X

3

162X

1 -X

14 4X

16 4X

21

13

11

9

13

15 32X

STEP 8: (DR-DIY-ENCL-1 and -2) ASSEMBLE DOOR(S)
REPEAT STEP FOR DR-DIY-ENCL-2

-27185
9 OF 101:2 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



14 4X

16 4X

STEP 9: (DR-DIY-ENCL-1 and -2) ATTACH DOOR(S)
REPEAT STEP FOR DR-DIY-ENCL-2

-27185
10 OF 101:3 0.0

REVDWG.  NO.

D
SIZE

SCALE WEIGHT (KG) SHEET

THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 

PROPERTY OF DEPARTED REALITY 
LLC.  ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF DEPARTED 

REALITY LLC IS  PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet2
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9

	Sheet3
	Drawing View14
	Drawing View15

	Sheet4
	Drawing View16
	Drawing View17
	Drawing View18

	Sheet5
	Drawing View19

	Sheet6
	Drawing View22
	Drawing View24

	Sheet7
	Drawing View25
	Detail View A (2 : 1)

	Sheet8
	Drawing View35
	Detail View B (2 : 1)

	Sheet9
	Drawing View32
	Drawing View33

	Sheet10
	Drawing View34


